
w
w
w
.c
a
re
e
ri
n
d
ia
.c
o
m

GATE 2016  General Aptitude – GA Set-7 

 1/3 

Q. 1 – Q. 5 carry one mark each. 

Q.1 If I were you, I __________ that laptop. It’s much too expensive. 

 

(A) won’t buy (B) shan’t buy 

 

(C) wouldn’t buy (D) would buy 

 

 

Q.2 He turned a deaf ear to my request. 

 

What does the underlined phrasal verb mean?  

 

(A)   ignored (B)   appreciated (C)   twisted  (D)   returned  

 

 

Q.3 Choose the most appropriate set of words from the options given below to complete the following 

sentence. 

 

_________    ___________ is a will, _________ is a way. 

 

(A) Wear, there, their (B) Were, their, there 

 

(C) Where, there, there (D) Where, their, their 

 

 

Q.4 (x % of y) + (y % of x) is equivalent to            . 

 

(A)   2 % of xy (B)   2 % of (xy/100) (C)   xy % of 100 (D)   100 % of xy 

 

 

Q.5 The sum of the digits of a two digit number is 12. If the new number formed by reversing the digits 

is greater than the original number by 54, find the original number. 

 

(A)   39 (B)   57 (C)   66 (D)   93 
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Q. 6 – Q. 10 carry two marks each.  

 

Q.6 Two finance companies, P and Q, declared fixed annual rates of interest on the amounts invested 

with them. The rates of interest offered by these companies may differ from year to year. Year-wise 

annual rates of interest offered by these companies are shown by the line graph provided below.  

 

 
 

If the amounts invested in the companies, P and Q, in 2006 are in the ratio 8:9, then the amounts 

received after one year as interests from companies P and Q would be in the ratio: 

(A) 2:3 

(B) 3:4 

(C) 6:7 

(D) 4:3 

 

 

Q.7 Today, we consider Ashoka as a great ruler because of the copious evidence he left behind in the 

form of stone carved edicts. Historians tend to correlate greatness of a king at his time with the 

availability of evidence today. 

 

Which of the following can be logically inferred from the above sentences? 

 

(A)   Emperors who do not leave significant sculpted evidence are completely forgotten. 

 

(B)   Ashoka produced stone carved edicts to ensure that later historians will respect him. 

 

(C)   Statues of kings are a reminder of their greatness. 

 

(D)   A king’s greatness, as we know him today, is interpreted by historians. 
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Q.8 Fact 1: Humans are mammals. 

Fact 2: Some humans are engineers. 

Fact 3: Engineers build houses. 

 

If the above statements are facts, which of the following can be logically inferred? 

 

I. All mammals build houses. 

II. Engineers are mammals. 

III. Some humans are not engineers. 

 

(A)   II only. (B)   III only. 

 

(C)   I, II and III. (D)   I only. 

 

 

Q.9 A square pyramid has a base perimeter x, and the slant height is half of the perimeter. What is the 

lateral surface area of the pyramid? 

 

(A)   x
2 

(B)   0.75 x
2
 (C)   0.50 x

2
 (D)   0.25 x

2
 

 

 

 

END OF THE QUESTION PAPER 

 

Q.10 Ananth takes 6 hours and Bharath takes 4 hours to read a book. Both started reading copies of the 

book at the same time. After how many hours is the number of pages to be read by Ananth, twice 

that to be read by Bharath? Assume Ananth and Bharath read all the pages with constant pace.  

 

(A)   1 (B)   2 (C)   3 (D)   4 
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Useful Data: 

Γασ χονσταντ (Ρ)      8.314 ϑ.mολ
−1

Κ
−1

 

 Αχχελερατιον δυε το γραϖιτψ (γ) 9.81 m
2
.σ

−1 

 Ατοmιχ ωειγητ οφ οξψγεν  16 γ.mολ
−1 

Ατοmιχ ωειγητ οφ σιλιχον  28 γ.mολ
−1

 

Ατοmιχ ωειγητ οφ ιρον   56 γ.mολ
−1

 

 

 
 

Q. 1 – Q. 25 carry one mark each. 

Θ.1 Φορ τηε τρανσφορmατιον σηοων βελοω, ιφ ονε οφ τηε ειγενϖαλυεσ ισ 6, τηε οτηερ ειγενϖαλυε οφ 

τηε mατριξ ισ ______ 

 ቂܻܺቃ ൌ ቂ ͷ െʹെʹ ʹቃ ቂݕݔቃ 
 

Θ.2 Τηε σολυτιον οφ τηε διφφερεντιαλ εθυατιον ୢమ୷ௗ୶మ ൌ ௗ௬ௗ௫  ισ 

 

(Α) ݕ ൌ ݁௫ ൅ 	C (Β)  ݕ ൌ ݁ି௫ ൅ C 

(Χ)  ݕ ൌ ଵ݁ି௫ܥ ൅ ݕ  ଶ (D)ܥ ൌ ଵ݁௫ܥ ൅  ଶܥ

  

[ωηερε, Χ, Χ1 ανδ Χ2 αρε χονσταντσ] 

 

Θ.3 Ιφ ሬܸԦ ൌ ො	ଓ	ݕଶݔ ൅ ෝ	ଔ	ݔଶݕ ൅ 	ݖݕݔ ෠݇ , τηε διϖεργενχε οφ ሬܸԦ ισ

(Α)  ݔଷݕ ൅ 	ݔଷݕ ൅  ଶݖݕݔ

(Β)  ݔଶݕ ൅ ݔଶݕ ൅  ݖݕݔ

(Χ)  ͷݕݔ 

(D)  0 

 

Θ.4 Τηε φιρστ λαω οφ τηερmοδψναmιχσ χαν βε στατεδ ασ 

(Α)  δΕ =  hΘ � hW 

(Β)  δΘ =  δΕ � hW 

(Χ)  hW = δΘ + δΕ 

(D)  δW = hΘ � hΕ 

 

[ωηερε, Ε, Θ ανδ W δενοτε ιντερναλ ενεργψ, ηεατ ανδ ωορκ, ρεσπεχτιϖελψ] 

 

Θ.5 Ιν α τψπιχαλ Ελλινγηαm διαγραm φορ τηε οξιδεσ, τηε Χ + Ο2 = ΧΟ2 λινε ισ νεαρλψ ηοριζονταλ 

βεχαυσε 

(Α) Τηε σλοπε οφ τηε λινε ισ εθυαλ το τηε εντηαλπψ χηανγε ατ στανδαρδ στατε, ωηιχη ισ 

αππροξιmατελψ ζερο ιν τηισ χασε 

(Β) Τηε σλοπε οφ τηε λινε ισ εθυαλ το τηε εντροπψ χηανγε ατ στανδαρδ στατε, ωηιχη ισ 

αππροξιmατελψ ζερο ιν τηισ χασε 

(Χ) ΧΟ2 σηοωσ νον−ιδεαλ βεηαϖιουρ 

(D) ΧΟ2 ισ α γασεουσ οξιδε 
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Θ.6 Αχτιϖατιον ενεργψ οφ α χηεmιχαλ ρεαχτιον, ηοmογενεουσ ορ ηετερογενεουσ, ισ γραπηιχαλλψ  

εστιmατεδ φροm α πλοτ βετωεεν 

(Α) κ  versus  Τ (Β) 1/κ  versus  Τ 

(Χ) 1/κ  versus  λν Τ (D) λν κ  versus  1/Τ 

  

[ωηερε, κ ισ τηε ρατε χονσταντ ανδ Τ ισ τηε αβσολυτε τεmπερατυρε] 

 

Θ.7 Τηε πασσιϖε φιλm ιν σταινλεσσ στεελ φορmσ αβοϖε τηε 

(Α) Πριmαρψ πασσιϖε ποτεντιαλ 

(Β) Βρεακδοων ποτεντιαλ 

(Χ) Τρανσ−πασσιϖε ποτεντιαλ 

(D) Πιττινγ ποτεντιαλ 

 

Θ.8 Dυρινγ τηε ροαστινγ οφ α συλφιδε ορε οφ α mεταλ M, τηε ποσσιβλε σολιδ πηασεσ αρε Μ, ΜΣ, ΜΟ 

ανδ ΜΣΟ4. Ασσυmινγ τηατ βοτη ΣΟ2 ανδ Ο2 αρε αλωαψσ πρεσεντ ιν τηε ροαστερ, τηε σολιδ 

πηασεσ τηατ χαν χο−εξιστ ατ τηερmοδψναmιχ εθυιλιβριυm αρε 

(Α)  Μ, ΜΣ, ΜΟ, ΜΣΟ4 

(Β)  Μ, ΜΟ, ΜΣΟ4 

(Χ)  ΜΣ, ΜΟ, ΜΣΟ4 

(D)  Μ, ΜΣΟ4 

 

Θ.9 Ματχη τηε εντιτιεσ ιν Column I ωιτη τηε χορρεσπονδινγ προχεσσεσ ιν Column II. 

Column I Column II 

[P]  Ξαντηατε σαλτσ [1] Εξτραχτιον οφ Αλ 

[Q] Τηιοβαχιλλυσ Φερροοξιδανσ [2] Φλοτατιον 

[R]  Ηψδροχψχλονε [3] Χλασσιφιχατιον 

[S]  Ανοδε εφφεχτ [4] Βαχτεριαλ Λεαχηινγ 
 

(Α) Π−4, Θ−2, Ρ−3, Σ−1 

(Β) Π−2, Θ−4, Ρ−3, Σ−1 

(Χ) Π−3, Θ−4, Ρ−1, Σ−2 

(D) Π−4, Θ−1, Ρ−2, Σ−3 

 

Θ.10 Α συβ−λανχε ισ υσεδ το mονιτορ χοmποσιτιον ανδ τεmπερατυρε ιν 

(Α) ΒΟΦ (Β) Λαδλε ρεφινινγ φυρναχε 

(Χ) Χοντινυουσ χαστινγ mουλδ (D) Βλαστ φυρναχε 

 

Θ.11 Τηε χηεmιχαλ φορmυλα οφ wüstite ισ 

(Α) ΦεΣ2 

(Β) Φε2Ο3 

(Χ) Φε3Ο4 

(D) Φε1−ξΟ  

 

Θ.12 Τηε λαττιχε παραmετερ οφ φαχε−χεντερεδ χυβιχ ιρον (け−Φε) ισ 0.3571 νm. Τηε ραδιυσ (ιν νm) οφ 

τηε οχταηεδραλ ϖοιδ ιν け−Φε ισ ___________ 
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Θ.13 Φορ αν ιδεαλ ηεξαγοναλ−χλοσεδ παχκεδ στρυχτυρε, τηε χ/α ρατιο ανδ παχκινγ εφφιχιενχψ 

ρεσπεχτιϖελψ αρε 

(Α) 1.633 ανδ 52% (Β) 1.633 ανδ 74% 

(Χ) 1.733 ανδ 68% (D) 1.733 ανδ 74% 

 

Θ.14 Α σχηεmατιχ οφ Ξ−ραψ διφφραχτιον παττερν οφ α σινγλε πηασε χυβιχ πολψχρψσταλ ισ γιϖεν βελοω. 

Τηε mιλλερ ινδιχεσ οφ peak A ισ 

 

 
 

(Α) 210 (Β) 220 

(Χ) 222 (D) 310 

 

Θ.15 Wηιχη οφ τηε φολλοωινγ χοολινγ χυρϖεσ (σηοων ιν σχηεmατιχ) ιν αν ευτεχτοιδ στεελ ωιλλ 

προδυχε 50% βαινιτιχ στρυχτυρε? 

 

(Α)  P (Β)  Q (Χ)  R (D)   S 

 

2

Ιν
τε
ν
σι
τψ

 (α
.υ
.) 110

200

211

Α

Μσ

Αχ1

τιmε 

Τε
m
π
ε
ρα
τυ
ρε

Πεαρλιτε

Βαινιτε

Μαρτενσιτε

Αυστενιτε

ΘΣ Ρ Π
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Θ.16 Τηε Βυργερ�σ ϖεχτορ οφ α δισλοχατιον ιν α χυβιχ χρψσταλ (ωιτη λαττιχε παραmετερ a) ισ 
ଶࢇ ሾͳͳͲሿ 

ανδ δισλοχατιον λινε ισ αλονγ [112] διρεχτιον. Τηε ανγλε (ιν δεγρεεσ) βετωεεν τηε δισλοχατιον 

λινε ανδ ιτσ Βυργερ�σ ϖεχτορ ισ_______ 

 

Θ.17 Φορ τηε τενσιλε στρεσσ−στραιν χυρϖε οφ α mατεριαλ σηοων ιν τηε σχηεmατιχ, τηε ρεσιλιενχε (ιν 

ΜΠα) ισ _________ 

 

 
 

 

Θ.18 Α πλαστιχαλλψ δεφορmεδ mεταλ χρψσταλ ατ λοω τεmπερατυρε εξηιβιτσ ωαϖψ σλιπ λινε παττερν δυε 

το 

(Α) Dισλοχατιον πιλε−υπ 

(Β) Λαργε νυmβερ οφ σλιπ σψστεmσ 

(Χ) Λοω σταχκινγ φαυλτ ενεργψ 

(D) Dισλοχατιον χλιmβ 

 

Θ.19 Χρεεπ ρεσιστανχε δεχρεασεσ δυε το  

(Α) Σmαλλ γραιν σιζε 

(Β) Φινε δισπερσοιδ σιζε 

(Χ) Λοω σταχκινγ φαυλτ ενεργψ

(D) Ηιγη mελτινγ ποιντ 

 

Θ.20 Τηε οπερατιον NOT ασσοχιατεδ ωιτη χαστινγ ισ 

(Α) Γατινγ (Β) Φεττλινγ 

(Χ) Σταχκ Μουλδινγ (D) Χαλενδαρινγ 
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Θ.21 Οφ τηε φολλοωινγ ωελδινγ προχεσσεσ  

 

  [Π] Λασερ Βεαm Wελδινγ 

  [Θ] Συβmεργεδ Αρχ Wελδινγ 

  [Ρ] Μεταλ Ινερτ Γασ Wελδινγ 

 

τηε ωιδτη οφ τηε ηεατ−αφφεχτεδ ζονε ιν δεχρεασινγ ορδερ ισ 

(Α) Π  >  Θ  >  Ρ (Β) Θ  >  Ρ  >  Π 

(Χ) Ρ  >  Π  >  Θ (D) Π  >  Ρ  >  Θ 

 

Θ.22 Ραιλωαψ τραχκσ αρε τψπιχαλλψ mανυφαχτυρεδ υσινγ 

(Α) Φοργινγ (Β) Εξτρυσιον 

(Χ) Dεεπ Dραωινγ (D) Ρολλινγ 

 

Θ.23 Φορ δψε−πενετραντ τεστ, ιδεντιφψ τηε CORRECT στατεmεντ 

(Α) Πρε− ανδ ποστ−χλεανινγ οφ παρτσ αρε νοτ ρεθυιρεδ 

(Β) Ιντερναλ δεφεχτσ χαν βε δετεχτεδ 

(Χ) Συρφαχε οξιδεσ ηελπσ ιν χραχκ ιδεντιφιχατιον 

(D) Dψε ωιτη λοω χονταχτ ανγλε ισ ρεθυιρεδ 

 

Θ.24 Αλυmινιυm ποωδερ ηαϖινγ αν αππαρεντ δενσιτψ οφ 810 κγ.m
−3

 ισ χοmπαχτεδ ιν α χψλινδριχαλ 

διε ατ 600 ΜΠα. Τηε δενσιτψ οφ τηε ασ−πρεσσεδ αλυmινιυm χοmπαχτ ισ 1755 κγ.m
−3

. Ιφ τηε 

ηειγητ οφ τηε ασ−πρεσσεδ χοmπαχτ ισ 12 mm, τηε φιλλ ηειγητ (ιν mm) ρεθυιρεδ ισ 

___________ 

 

Θ.25 Α ρολλινγ mιλλ ηασ α ρολλ διαmετερ οφ 200 mm. Ιφ χοεφφιχιεντ οφ φριχτιον ισ 0.1, τηεν τηε 

mαξιmυm ποσσιβλε ρεδυχτιον (ιν mm) δυρινγ ρολλινγ οφ α 250 mm τηιχκ πλατε ισ 

___________ 

  

Q. 26 – Q. 55 carry two marks each. 

 

Θ.26 Α ηοτ βοδψ χοολσ αχχορδινγ το τηε φολλοωινγ εθυατιον 

  
ௗ்ௗ௧ ൌ െܿܶ   

 

ωηερε, Τ ισ τηε ινσταντανεουσ τεmπερατυρε ατ τιmε τ, ανδ τηε χονσταντ χ = 0.05 σ
−1

.  Ρεδυχε 

τηε διφφερεντιαλ εθυατιον ιντο ιτσ φινιτε διφφερενχε φορm using forward difference. 
 
Φορ 

mαινταινινγ νυmεριχαλ σταβιλιτψ, τηε mαξιmυm ϖαλυε οφ τηε τιmε στεπ 〉τ (ιν σεχονδσ) ισ 

________ 

 

Θ.27 Σολϖε τηε εθυατιον ݔ ൌ eି௫ υσινγ Νεωτον−Ραπησον mετηοδ. Σταρτινγ ωιτη αν ινιτιαλ γυεσσ 

ϖαλυε ξ0 = 0, τηε ϖαλυε οφ ξ αφτερ τηε φιρστ ιτερατιον ισ ____________ 

 

Θ.28 Α χοιν ισ τοσσεδ τηρεε τιmεσ. Ιτ ισ κνοων τηατ ουτ οφ τηε τηρεε τοσσεσ, ονε ισ α HEAD.  Τηε 

προβαβιλιτψ οφ τηε οτηερ τωο τοσσεσ αλσο βεινγ HEADs ισ _____________ 
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Θ.29 Τηε ϖεχτορ παραλλελ το τηε πλανε 3ξ  2ψ + ζ = 1 ισ  

(Α)    ଓƸ ൅ 	 ଔƸ െ 	 ෠݇ 

(Β)   ͵ଓƸ െ ʹଔƸ ൅ ෠݇ 

(Χ) 		െଓƸ ൅ ଔƸ െ ෠݇  

(D)   3ଓƸ െ ʹଔƸ ൅ ʹ෠݇ 

Θ.30 Τηε ϖαλυε οφ τηε ιντεγραλ 


/2

0

δξσινξ ξ  = __________ 

Θ.31 Τηε γραιν σιζεσ (ιν ∝m) mεασυρεδ ατ φιϖε λοχατιονσ ιν αν αλλοψ σαmπλε αρε: 16, 14, 18, 15 

ανδ 13. Τηε mεαν, mεδιαν ανδ στανδαρδ δεϖιατιον οφ γραιν σιζεσ ρεσπεχτιϖελψ αρε (ιν ∝m) 

(Α) 15.2, 15 ανδ 1.7 

(Β) 15.2, 15 ανδ 1.9 

(Χ) 15.8, 15 ανδ 1.9 

(D) 15.2, 16 ανδ 1.7 

 

Θ.32 Τηε χηανγε οφ στανδαρδ στατε φροm πυρε λιθυιδ το 1 ωτ.% φορ Σι δισσολϖεδ ιν λιθυιδ Φε ατ 

1873 Κ ισ εξπρεσσεδ ασ 

Σι (liq.) = Σι (1 ωτ.%) 

 

Γιϖεν τηατ τηε αχτιϖιτψ χοεφφιχιεντ οφ Σι ατ ινφινιτε διλυτιον ιν Φε ισ 10
−3

, τηε στανδαρδ Γιββσ 

φρεε ενεργψ χηανγε (ιν κϑ) φορ τηισ εθυιλιβριυm ισ_____________ 

 

Θ.33 Τηε φολλοωινγ εξπεριmενταλ δατα αρε αϖαιλαβλε φορ α ηψποτηετιχαλ βιναρψ λιθυιδ σψστεm A-B 

ατ 1073 Κ 

Ατοm φραχτιον οφ Α 0.2 0.4 0.5 0.7 1.0 

Παρτιαλ πρεσσυρε οφ Α (βαρ) 0.01 0.04 0.06 0.07 0.08 

 

Wηεν τηε ατοm φραχτιον οφ A ισ 0.4, τηε αχτιϖιτψ οφ A ιν τηε λιθυιδ ισ ______________ 

 



w
w
w
.c
a
re
e
ri
n
d
ia
.c
o
m

ΓΑΤΕ 2016 ΜΤ 

ΜΤ 7/12

Θ.34 Τηε λινινγ οφ α βοξ−τψπε φυρναχε ισ mαδε υπ οφ α ρεφραχτορψ λαψερ ανδ στεελ πλατε ασ σηοων ιν 

τηε φιγυρε. Στεαδψ στατε τεmπερατυρε ατ τηε συρφαχε οφ τηε ρεφραχτορψ ισ 1273 Κ ανδ τηατ ατ τηε 

ουτερ στεελ συρφαχε ισ 473 Κ. Ιφ τηε στεαδψ−στατε ηεατ φλυξ τηρουγη τηε ρεφραχτορψ−στεελ πλατε 

χοmποσιτε ισ 1600 W.m
−2

, ανδ ηεατ φλοω ισ αλονγ ξ−διρεχτιον, τηε τηερmαλ χονταχτ ρεσιστανχε 

(W
−1

.m
2
.Κ) βετωεεν ρεφραχτορψ ανδ στεελ ισ _____________ 

 

 

 

  

 

 

  

 

 

 

Γιϖεν δατα: 

  Τηερmαλ χονδυχτιϖιτψ οφ ρεφραχτορψ  = 1.2 W.m
−1

Κ
−1

 

  Τηιχκνεσσ οφ ρεφραχτορψ λινινγ        = 80 mm 

Τηερmαλ χονδυχτιϖιτψ οφ στεελ  = 32 W.m
−1

Κ
−1 

Τηιχκνεσσ οφ στεελ πλατε   = 4 mm 

 

Θ.35 Τηε ηειγητ οφ α λιθυιδ mεταλ χολυmν ιν α χψλινδριχαλ ϖεσσελ ισ 3.2 m. Ατ τιmε τ=0, λιθυιδ 

mεταλ ισ δραινεδ ουτ φροm τηε ϖεσσελ τηρουγη α σmαλλ νοζζλε λοχατεδ ατ τηε βασε οφ τηε ϖεσσελ. 

Νεγλεχτινγ φριχτιοναλ λοσσεσ, τηε ινιτιαλ mασσ φλοω ρατε (ιν κγ.σ
−1

) τηρουγη τηε  

νοζζλε ισ ________________ 

 

Γιϖεν δατα: 

Dενσιτψ οφ λιθυιδ mεταλ   =  7000 κγ.m
−3

 

Νοζζλε διαmετερ    =  30 mm 

Νοζζλε δισχηαργε χοεφφιχιεντ  =  0.80 

 

 

Θ.36 Ματχη εντιτιεσ λιστεδ ιν Column I ωιτη τηειρ χορρεχτ διmενσιονσ γιϖεν ιν Column II: 

 

Column I Column II 

[Π]  Dραγ χοεφφιχιεντ [1]  ΜΛ
−1

Τ
−1

[Θ]  Μασσ τρανσφερ χοεφφιχιεντ [2]  ΜΛ
−2

Τ
−1

 

[Ρ]  ςισχοσιτψ [3]  Μ
0
 Λ

0
Τ

0
 

[Σ]  Μασσ φλυξ [4]  Μ
0
ΛΤ

−1
 

 

(Α)  Π−3, Θ−4, Ρ−1, Σ−2 (Β)  Π−3, Θ−1, Ρ−2, Σ−4 

(Χ)  Π−1, Θ−4, Ρ−2, Σ−3 (D)  Π−4, Θ−3, Ρ−1, Σ−2 

 

Θ.37 Dιρεχτ Ρεδυχεδ Ιρον (DΡΙ) προδυχεδ φροm α γασ βασεδ προχεσσ χονταινσ Φε, ΦεΟ, Χ ανδ 

ρεmαινδερ βεινγ γανγυε. Τηε χηεmιχαλ χοmποσιτιον οφ DΡΙ ισ: Total Fe = 92 ωτ.% ανδ 

Metallic Fe = 84 ωτ.%.  Τηε ωειγητ περχεντ οφ ΦεΟ ιν DΡΙ ισ  _________________ 

 

1273 Κ 473 Κ 

ρε
φρ

αχ
το

ρψ
 

στ
εε

λ 
π

λα
τε

 

Φυρναχε Αmβιεντ  

ξ
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Θ.38 Μουλδ ηεατ φλυξ (θm) φορ βιλλετ χαστερσ ισ εξπρεσσεδ (ιν ΣΙ υνιτ) ασ α φυνχτιον οφ διστανχε 

βελοω τηε mενισχυσ (ζ) 

 

6

χ

m 10
Υ

ζ
33.067.2)ζ(θ 








           ( )0 mLz   

 

Ιφ mουλδ λενγτη (Λm) ισ 0.8 m ανδ χαστινγ σπεεδ (Υχ) ισ 0.2 m.σ
−1

, τηε αϖεραγε mουλδ φλυξ 

(ιν ΜW.m
−2

) ισ ________________ 

 

Θ.39 Ιν ΒΟΦ στεελmακινγ, 5 mετριχ τον οφ λιmε χονταινινγ 90 ωτ.% ΧαΟ ισ υσεδ το ρεφινε 100 

mετριχ τον οφ ηοτ mεταλ χονταινινγ 93.2 ωτ.% Φε. Τηε σλαγ προδυχεδ δυρινγ ρεφινινγ 

χονταινσ 40 ωτ.% ΧαΟ ανδ 22 ωτ.% ΦεΟ. Νεγλεχτινγ mατεριαλ λοσσεσ, τηε ψιελδ οφ Φε (ιν %) 

ισ _________________ 

 

Θ.40 Ιν ϖαχυυm δεγασσινγ οφ στεελ, 14 ππm οφ δισσολϖεδ νιτρογεν ισ ιν εθυιλιβριυm ωιτη 1 mβαρ 

οφ νιτρογεν γασ ατ 1873 Κ. Ατ τηε σαmε τεmπερατυρε, ιφ τηε πρεσσυρε ισ λοωερεδ το 0.7 mβαρ, 

τηε εθυιλιβριυm νιτρογεν χοντεντ (ιν ππm) ισ _____________ 

  

Θ.41 Dυρινγ ισοτηερmαλ πηασε τρανσφορmατιον (ιν σολιδ−στατε), φραχτιον τρανσφορmεδ ισ mεασυρεδ ατ 

τωο διφφερεντ τρανσφορmατιον τιmεσ: 

 

  ___________________________________________ 

  Τρανσφορmατιον Τιmε, t (σ) Φραχτιον Τρανσφορmεδ, f 

  ___________________________________________ 

      75         0.11 

                            150          0.37 

                       ____________________________________________ 

 

Ασσυmινγ Αϖραmι κινετιχσ [f = 1 – exp (–kt
n
)], τηε φραχτιον τρανσφορmεδ ιν  

300 σεχονδσ ισ _______________ 

 

Θ.42 Ζινχ οξιδε ισ ρεδυχεδ ατ α χονσταντ τεmπερατυρε ιν α χλοσεδ ρεαχτορ υσινγ ΖνΟ(σ) ανδ Χ(σ) 

ασ τηε ονλψ σταρτινγ mατεριαλσ. Τηε φολλοωινγ ρεαχτιονσ αρε ασσυmεδ το βε ατ τηερmοδψναmιχ 

εθυιλιβριυm: 

ΖνΟ(σ) + Χ(σ) = Ζν(γ) + ΧΟ(γ) 

2ΧΟ(γ)  = ΧΟ2(γ) + Χ(σ) 

 

Ασσυmε ιδεαλ γασ βεηαϖιουρ. Βασεδ ον mολε βαλανχε, τηε ρελατιονσηιπ αππλιχαβλε το τηε 

σψστεm ατ εθυιλιβριυm ισ  

 

(Α) 	݌௓௡ ൌ ஼ை݌ ൅ ஼ைమ݌ʹ   

(Β) 	݌௓௡ ൌ ஼ை݌ʹ ൅  ஼ைమ݌

(Χ) 	݌௓௡ ൌ ஼ை݌ ൅  ஼ைమ݌

(D) 	݌௓௡ ൌ ͲǤͷ	݌஼ை ൅  ஼ைమ݌ʹ
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Θ.43 Τηε χριτιχαλ νυχλευσ σιζε (ιν νm) ωηεν χοππερ mελτ ισ υνδερ−χοολεδ βψ 100 Κ ισ 

 

Γιϖεν δατα: 

  Μελτινγ ποιντ:    1356 Κ 

  Dενσιτψ:    8900 κγ.m
−3

   

Σολιδ−λιθυιδ ιντερφαχιαλ ενεργψ:  0.5  ϑm
−2

 

  Λατεντ ηεατ οφ φρεεζινγ:    13000 ϑ.mολ
−1

 

  Μολαρ ϖολυmε:    710
−6

 m
−3

mολ
−1 

 

(Α)  0.36 (Β)  1.55 (Χ)  3.65 (D)  7.30 

 

Θ.44 Τηε δενσιτψ ανδ χορρεσπονδινγ χρψσταλλινιτψ οφ τωο πολψ−προπψλενε mατεριαλ αρε γιϖεν 

βελοω 

   ________________________________________ 

    Dενσιτψ, κγ.m
−3

 Χρψσταλλινιτψ, % 

   ________________________________________ 

       904        62.8 

       895         54.4 

   _________________________________________ 

 

Τηε δενσιτψ οφ τοταλλψ αmορπηουσ πολψ−προπψλενε (ιν κγ.m
−3

) ισ: 

 

(Α)  723 (Β)  841 (Χ)  905 (D)  956 
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Θ.45 Α σιmπλιφιεδ ενεργψ βανδ−διαγραm οφ αν ιντρινσιχ σεmιχονδυχτορ ατ τηερmαλ εθυιλιβριυm 

(300 Κ) ισ σηοων. Ιν τηε αχχοmπανψινγ ταβλε, ωηιχη ονε οφ τηε φουρ χολυmνσ χορρεχτλψ 

ρεπρεσεντσ τηε λιστεδ παραmετερσ? Ασσυmε σαmε εφφεχτιϖε mασσ φορ ελεχτρονσ ανδ ηολεσ. 

 

 
 

Παραmετερ 

 

Ενεργψ−διφφερενχε 

Column 1 Column 2 Column 3 Column 4 

Βανδ−γαπ 〉Ε2 〉Ε1 〉Ε2 〉Ε1 

Ελεχτρον αφφινιτψ 〉Ε1/2 〉Ε2 �〉Ε1 〉Ε2/2 〉Ε2 � (〉Ε1/2) 

Wορκ φυνχτιον 〉Ε1 + 〉Ε2 〉Ε2 � (〉Ε1/2) 〉Ε1 � 〉Ε2/2 〉Ε2 + (〉Ε1/2) 
 

(Α) Χολυmν 1 (Β) Χολυmν 2 (Χ) Χολυmν 3   (D) Χολυmν 4  

 

Θ.46 Α βιναρψ πηασε διαγραm ισ σηοων ιν τηε σχηεmατιχ. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Υπον χοmπλετε σολιδιφιχατιον οφ α βιναρψ αλλοψ σψστεm Α−Β, τηε φραχτιον οφ προ−ευτεχτιχ −

πηασε πρεσεντ ισ 0.50.  Τηε αλλοψ χοmποσιτιον ιν τερmσ οφ ωτ%. Β ισ _________________ 

 

 

Fermi 

level

Vacuum 

level

E
le

c
tr

o
n

 E
n

e
rg

y
(E

)

ȴΕ1

ȴΕ2

Λ
+ Λ + Λ




+ 

18.3
61.9

97.8

Α ΒWτ% Β

Τε
m
π
ε
ρα
τυ
ρε



w
w
w
.c
a
re
e
ri
n
d
ia
.c
o
m

ΓΑΤΕ 2016 ΜΤ 

ΜΤ 11/12

Θ.47 Φατιγυε βεηαϖιουρ οφ αν αλυmινιυm αλλοψ ισ σηοων ιν τηε Σ−Ν πλοτ. Α πιστον ροδ mαδε οφ 

τηισ mατεριαλ ισ συβϕεχτεδ το: (ι) 1000 χψχλεσ ατ 420 ΜΠα, φολλοωεδ βψ (ιι) 1000 χψχλεσ ατ 

300 ΜΠα. Υσινγ Μινερ�σ ρυλε οφ χυmυλατιϖε δαmαγε, τηε ρεmαινινγ φατιγυε λιφε (ιν τερmσ οφ 

νυmβερ οφ χψχλεσ) ατ στρεσσ οφ 250 ΜΠα ισ _______________ 

 

 

Θ.48 Α γλασσ πλατε ηασ τωο παραλλελ χραχκσ. Ονε οφ τηεm ισ αν ιντερναλ χραχκ οφ λενγτη 5 たm ανδ 

τηε οτηερ ισ α συρφαχε χραχκ οφ λενγτη 3 たm. Α τενσιλε στρεσσ ισ αππλιεδ περπενδιχυλαρ το τηε 

χραχκ συρφαχεσ. Τηε φραχτυρε στρεσσ (ιν ΜΠα) ισ ___________ 

 Γιϖεν δατα (φορ γλασσ πλατε): 

  Ψουνγ�σ Μοδυλυσ   = 70 ΓΠα 

  Συρφαχε ενεργψ περ υνιτ αρεα  = 1 ϑ.m
−2

 

 

Θ.49 Α τενσιλε στρεσσ ισ αππλιεδ αλονγ τηε [100] διρεχτιον ιν α ΦΧΧ mεταλ χρψσταλ. Τηε χριτιχαλ 

ρεσολϖεδ σηεαρ στρεσσ ισ 6 ΜΠα. Τηε τενσιλε στρεσσ (ιν ΜΠα) ρεθυιρεδ φορ ινιτιατινγ σλιπ ον τηε 

(111) σλιπ πλανε ισ_____________ 

 

Θ.50 Φορ α βχχ mεταλ τηε ρατιο οφ τηε συρφαχε ενεργψ περ υνιτ αρεα οφ τηε (100) πλανε το τηατ οφ τηε 

(110) πλανε ισ ______________ 

 

Θ.51 Φορ α πολψmερ ρεινφορχεδ ωιτη 40 ϖολ.% γλασσ φιβερ, τηε ελαστιχ mοδυλυσ (ιν ΓΠα) αλονγ τηε 

τρανσϖερσε διρεχτιον ισ  

(Α) 5.6  (Β) 8.1  

(Χ) 30.1  (D) 43.4  

 

             [Εγλασσ φιβερ = 70 ΓΠα; Επολψmερ = 3.5 ΓΠα] 

0

200

400

600

800

0 2000 4000 6000 8000 10000

Σ
,  
Μ
Π
α

Ν

420 ΜΠα

300 ΜΠα

250 ΜΠα

2000 5000 8800



w
w
w
.c
a
re
e
ri
n
d
ia
.c
o
m

ΓΑΤΕ 2016 ΜΤ 

ΜΤ 12/12

 

Θ.52 Ιν α σανδ−mουλδ, α σπρυε οφ 0.25 m ηειγητ ανδ α τοπ χροσσ−σεχτιον αρεα οφ 2.2 m
2
 ισ προϖιδεδ 

το mαινταιν τηε mελτ φλοω ρατε ατ 4 m
3
.σ

−1
. Το πρεϖεντ ασπιρατιον οφ mολτεν mεταλ, τηε 

mαξιmυm χροσσ−σεχτιον αρεα (ιν m
2
) ατ τηε βασε οφ τηε σπρυε ισ ____________ 

 

Θ.53 Φορ χαστινγ α χψλινδριχαλ αλυmινυm βλοοm ηαϖινγ α λενγτη οφ 1000 mm ανδ διαmετερ οφ  

750 mm, τηε αππροξιmατε σολιδιφιχατιον τιmε (ιν mινυτεσ) εστιmατεδ υσινγ Χηϖορινοϖ�σ ρυλε 

ισ  

(Α)  45 (Β)  316 (Χ)  440 (D)  620 

 

           [Τηε mουλδ χονσταντ ισ 2 σ/mm
2
] 

 

Θ.54 Α λιθυιδ πηασε σιντερεδ ΣιΧ−Νι χοmποσιτε ηασ α σολιδ−σολιδ γραιν βουνδαρψ ενεργψ (けΣιΧ−ΣιΧ) 

οφ 0.80 ϑ.m
−2

 ανδ α σολιδ−λιθυιδ (けΣιΧ−Νι) ιντερφαχιαλ ενεργψ οφ 0.45 ϑ.m
−2

. Φορ α ΣιΧ γραιν σιζε 

οφ 20 ∝m, τηε αϖεραγε ιντερπαρτιχλε (ΣιΧ−ΣιΧ) νεχκ σιζε (ιν ∝m) ισ: 

(Α)  3.03 (Β)  4.28 (Χ)  9.16 (D)  18.32 

 

 

Θ.55 Ματχη τηε δεφορmατιον προχεσσεσ ιν Column I ωιτη τηε χορρεσπονδινγ στρεσσ στατεσ λιστεδ ιν 

Column II 

Column I Column II 

[P]   Wιρε Dραωινγ [1]   Dιρεχτ Χοmπρεσσιον  

[Q]   Φοργινγ [2]   Ινδιρεχτ Χοmπρεσσιον  

[R]   Στρετχη Φορmινγ [3]   Τενσιον  

[S]   Χυττινγ [4]   Σηεαρ  
 

(Α) Π−1; Θ−2; Ρ−3; Σ−4 (Β) Π−1; Θ−2; Ρ−4; Σ−3 

(Χ) Π−2; Θ−1; Ρ−3; Σ−4 (D) Π−2; Θ−1; Ρ−4; Σ−3 

 

 

 

 

 

END OF THE QUESTION PAPER 

 

 

 

 

 

 


